4-18- (1

1) Data set: 1, 5, 6, 10, 7, 2, 2, 6, 2, 5

Data set in order: |,2,2,2,5,9,6,6,7,10

Sum of the numbers: %

Mean = Mode =
Ho=10 = 4.6 L
Median = Range = f
oS _ (0 . ge :
-7;_‘='2"5 w-1=1

2) Data set: 5, 5, 6, 9, 4, 3, 4, 8, 10, 4

Data set in order: 3,“\."\,L|;5»5:‘7.‘14;q:\0

Sum of the numbers: __5..1__

Mean = Mode =
0¢=10=5.9 4
Median = 5+5 0. Range =
27777 10-3=T
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= Think: avcrm@e

To find the mean:

1. ﬂﬂ{j{ all values
2. _ Qivtde by the number of

values.

To find the median:
1. Put numbers in DV’d(’r from

least to greatest.

2. Mark off high and low values until you

reach the [!Liﬂﬂ\g ]

3. If there are 2 middles, add them and
divide by 2.

« Think: WSt
To find the mode:
1. Put numbersin  Otdey from

least to greatest.

2. Find the number that appears the

mo st

3. There may be more than one mode, or
there may be __\0 mode

Example Problem:

Find the Mean of the numbers.

M+ {6+q24100t99+9 |t 8%
=T

MeAn = 15; = 9%

Example Problem:

Find the Median of the numbers.

%%%qz&,%%, )
a4, 1% . g5

e —

"R

- Think: _ditferunce
To find the range:

1. Putnumbersin  Drder from

least to greatest.

e SMVMH’ the lowest

number from the highest number.

Example Problem:
Find the Mode of the numbers.

{2, 94,41,92,94,94, 91, \00
49

Example Problem:

Find-the Range of the numbers.

100- %% = (7




